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Puzzle provided by Noetic Learning Math Contest 

There are 5 houses on a street: house A, B, C, D and E. The distance 

between any two adjacent houses is 100 feet.  There are 2 children living 

in house A, 3 children living in house B, 4 children living in house C, 5 

children living in house D and 6 children living in house E.   If the 

school bus can only make one stop on that street, in front of which 

house should the bus stop so that the sum of walking distance among all 

children will be the least?  

  

    

 

     

   



 

© 2013 National Council of Teachers of Mathematics 
http://illuminations.nctm.org 

 

Solution: House D. 

 
If the bus stops at house A, we will have 

 2 children walk 0 ft; 

 3 children walk 100 ft each; 

 4 children walk 200 ft each; 

 5 children walk 300 ft each; 

 6 children walk 400 ft each 
Altogether, they walk 5000 ft. 
 
If the bus stops at house B, we will have 

 3 children walk 0 ft; 

 6 children walk 100 ft each; 

 5 children walk 200 ft each; 

 6 children walk 300 ft each 
Altogether, they walk 3400 ft. 
 
If the bus stops at house C, we will have 

 4 children walk 0 ft; 

 8 children walk 100 ft each; 

 8 children walk 200 ft each; 
Altogether, they walk 2400 ft. 
 
If the bus stops at house D, we will have 

 5 children walk 0 ft; 

 10 children walk 100 ft each; 

 3 children walk 200 ft each; 

 2 children walk 300 ft each; 
Altogether, they walk 2200 ft. 
 
If the bus stops at house E, we will have 

 6 children walk 0 ft; 

 5 children walk 100 ft each; 

 4 children walk 200 ft each; 

 3 children walk 300 ft each; 

 2 children walk 200ft each. 
Altogether, they walk 2600 ft. 
 
Children walk the least if the bus stops at House D. 


